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SN RFRBY
M STMURM(RELXAMNL /LX)
Sl DY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 1,164,000 1,164,000 0
2 582,000
Al 582,000
05 RIZHRI & 3 1,164,000 1,164,000 0
OMBEESZTSF=User2 A8 U=
1,164,000, 000& 1,164,000
= 582,000
Al 582,000
AEEHESZRFUS2 29 877,915 873,307 4,608
101 @124 4] 128,595 114,387 14,208
04 JIZHHZ2XRHESE S+ 128,595 114,387 14,208
Oousta 2 2el 128,595
o2y 51,7603 x»4H x1952 40,373
oFXtrg 51,7603 x4 x48 9,938
cXt+¢ 51,7603 x»4H 11 2,278
S ] 77,6403 »4H 482 14,907
cA222E 9, 7103 x4 x60 Al 2+ 2,331
o=0dg S 4HEEE  69,827,000& x13% 9,078
S LAAMY QRA(FUILA)
51,7603 x8H » 120 49,690
201 Yet2 | 121,320 128,420 AT7,100
01 At 2t 2l 33,320 40,420 AT7,100
onst22dy 25,000,000& 25,000
Otz I3 2E(H23]) 280,000 280
Osg stz 22X Sl 5,040,000& 5,040
Oontsta 28 E2= MH 3,000,000& 3,000
02 =24l 88,000 88,000 0
O A& EHl s Xl 13,000, 000& 13,000
o0z3&E2= & HA 75,000,000 75,000
307 21201 A 628,000 628,000 0
05 BIZERI & 3 628,000 628,000 0
OAMEEHEZRFusrat AlZ 2dH|
628,000,000 628,000
SDMATR EA 1,541,000 5,886,000 A 4,345,000
=2 1,041,000
Al 500,000
SELEAAET H=HAXMUAE X 1,041,000 1,483,000 A 442,000
= 1,041,000
401 Al HIZ 201 8] 1,041,000 1,483,000 A 442,000
= 1,041,000
01 A& HI 1,041,000 1,483,000 A 442,000
OSELEMAHT HHAXMCIAE &X
1,041,000, 000& 1,041,000
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S9l: BTAYBK E4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| = 1,041,000
SEXF 34T = X 500,000 0 500,000
401 Al HI R 201 I 500,000 0 500,000
01 A& Hl 500,000 0 500,000
OZEXNT SBANACT F¥ N
500,000,000 500,000
gZRFAAL 650,000 1,321,000 A 671,000
< 300,000
Al 350,000
ZEAMNEEZIRFAAL 600,000 1,321,000 A721,000
= 300,000
Al 300,000
307 21201 A 600,000 1,321,000 A721,000
< 300,000
Al 300,000
04 QIZFSHALAIR B = 600,000 1,321,000 A721,000
OZEAdSZRFAAL 600,000,000 600,000
< 300,000
Al 300,000
FEHANIEZFAAL(IHA) 50,000 0 50,000
307 glz2tol & 50,000 0 50,000
04 DIZHHALALSE E X 50,000 0 50,000
OYESEZS2ZEHI =LA &F3
50,000,000& 50,000
#Y2IZH (LT3 D) (IIE/IIE) 60,380 78,440 A 18,060
Jl2&dl 60,380 78,440 A 18,060
Jl2zl 60,380 78,440 A 18,060
201 Let2d] 8,000 8,000 0
01 At 22l 8,000 8,000 0
OB+t 5,000,000& 5,000
O= &l 3,000,000& 3,000
202 oddl 46,080 66,240 220,160
01 = LH o4 1l 46,080 66,240 A 20,160
O2LEF I 240,000& x16H +12& 46,080
203 ¥ S =&l 6,300 4,200 2,100
01 JI122E 2= 3,300 0 3,300
os=g3= 29 3,300,000& 3,300
04 FN2ELRZ=TH| 3,000 4,200 A1,200
ORN2EYF=AHI 250,000 =128 3,000




